Final; Finance 4360;  Summer, 1998; page 1 of 2

Name  ​​​​​​​​_____________________________________

1.  When Microsoft founder, Bill Gates, retires from Microsoft, conflicts of interest between stockholders and managers will likely increase.  What changes (compared to now when Bill Gates is still CEO) will Microsoft need to make in order to reduce these conflicts.

2.  Loud, Louder, and Loudest Inc. currently has three stockholders as follows:

Name
# of shares
Erin
60,000

Catherine
85,000

Maggie
20,000

Loud’s current market value per share is $100 per share.  Due to a large amount of surplus cash, Loud plans to repurchase 30,000 of its shares at $125 per share.  

a.  What is each stockholder’s wealth before the repurchase?

b.  Assume that Loud plans to repurchase the shares via a tender offer and each stockholder acts rationally.  How is each stockholder’s wealth affected by the repurchase?

c.  Assume that Loud plans to repurchase the shares via transferable put rights.  The firm will issue one put per outstanding share.  What is the value of each put?

d.  If Maggie sells her puts to Catherine, and that all stockholders exercise all of the puts they own, how will each stockholder’s wealth be affected?

3.  Suppose that in an effort to diversify his portfolio, Bill Gates decides to sell some of his shares and use the proceeds to purchase shares in the Vanguard S&P 500 Index.  Assume that the expected return on Microsoft is 25%, that Microsoft’s beta is 1.2, and that the standard deviation of returns on Microsoft is 38%.  Assume also that the expected return on the S&P 500 Index is 14%, that the beta of the S&P 500 is 1.0, and that the standard deviation of returns on the S&P 500 Index is 28%.

a.  Sketch a reasonable set of risk/return possibilities for Bill Gates as he sells shares of Microsoft and purchases shares of the S&P 500 index.

b.  Assume also that Bill can borrow or lend at the T-bill rate of 4.76%.  How does this affect your answer in part “a”?

4.  Walgreens is in the process of building a new Walgreen store on Valley Mills, but in the process of reconsidering opening the store.  Walgreens’ construction costs in building the store are as follow:  $600,000 was spent a month ago, $400,000 will be spent today building the store, and $200,000 will be spent a month from today.  Rather than completing the store, Walgreens estimates that it could sell the partially finished structure today for $250,000.  Walgreens estimates that the new store will generate a net cash flow of $10,000 three months from today, and that net monthly cash flows will increase by 1/2% per month through 10 years from today.  The beta on Walgreens’ stock is 1.3 and on Walgreens’ bonds is 0.2.  The market value of Walgreens’ stock is $6.5 billion and of its debt is $2 billion.  The book value of Walgreens’ stock is $2.2 billion and of its debt is $1.9 billion.  The return on T-bills is 4.76% and the expected return on the market is 12.8%.

a.  Assuming that the risk of the new store is about the same as Walgreens’ existing stores, what is a good estimate of the beta of the new store?

b.  Given your answer in part “a”, what is the required return on the new store?

c. Should Walgreen finish and open the store?

5.  Would the difference between net income and economic value added be more pronounced between a heavy manufacturing firm like Ford or a software firm with large amounts of “human capital” like Microsoft?  Justify your answer.
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6.  Note:  You will need to use the attached page from the July 2nd Wall Street Journal to answer this question.  Suppose that you own shares of Microsoft but are afraid that Microsoft’s shares may fall in value between now and January.  As a result, last Wednesday you bought 15 put options on Microsoft which expire in January and which have an exercise price of 100.

a.  What was the total cash flow when you bought the puts?

b.  Suppose Microsoft shares do in fact fall by $20 per share by the time the options expire.  What cash flow occurs at the expiration of the puts?

c. What is your total profit or loss on the options?

Solutions

1. 1)  may want more outsiders on the board [2], 2) may want to begin EVA type of bonus system [4], 3) may want to increase debt in capital structure [2], however, this is not clear because of Microsoft's large human capital [2], 4) give more stock [2] and stock options [2] to Microsoft management/employees, and 5) increase dividends [2]

2. a.  
Erin = 60,000 x 100 = 6,000,000 [+3]

Catherine = 85,000 x 100 = 8,500,000 [+3]

Maggie = 20,000 x 100 = 2,000,000 [+3]

b.  Price per share after
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Offer
Sell



Erin
30,000 [+3]
11,250 [+3]

Catherine
30,000 [+3]
11,250 [+3]

Maggie
20,000 [+3]
7500 [+3]

=> Prorate = 
[image: image2.wmf]375

.

000

,

80

000

,

30

=

 [+11]

Erin = (60,000 - 11,250)94.44 + 11,250(125) = 60,010,416.67 [+7]


=> increase of 10,416.67

Catherine = (85,000 - 11,250)94.44 + 11,250(125) = 8,371,527.78 [+7]


=> decrease of 128,472.22

Maggie = (20,000 - 7500)94.44 + 7500(125) = 2,118,055.56 [+7]


=> increase of 118,055.56

c.  Number of puts per share 
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Value per put 
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d.  unchanged [+10]

3.  
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Checks:  Each axis [1], labels on axes [1 each], assets [2 each], curve [8], optimal [4], line [4]

4.  
a. 
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[+20: Eq. = +8, 6.5, 2 = + 4 each; 

b.  
r = 4.76 + 1.04118(12.8 - 4.76) = 13.13106
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Costs:
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Inflows:
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=> yes since NPV = 5199.97 > 0

5.  One of the primary differences between net income and EVA is that EVA subtracts out the cost of all capital.  Since Ford is a heavy user of capital, Ford will have a larger capital charge and thus a bigger difference between net income and EVA.

6.  
a.  CF = -15 x 100 x 5.50 = -8250

b.  CF = 100 x 15 x 100 = 150,000

c.  Profit = 150,000 - 100 x 15 x 89.375 - 8250 = 7687.50
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